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(@)78.5cm2 @ 62.8cm? @ 60.24cm?
@ 58.16cm? ® 50.24cm?

gtz 5-2] o] 1 10 +2 = 5(cm)
o] Yol 1 5x5x3.14 = 78.5(cm?)
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D 100.48cm? @ 125.16cm? ® 134.16cm?

@ 148.56cm? (@)175.8401112
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(7F 99] Wol)= 9 x 9x 3.14 = 254.34( cm?)
(U 2] Hol)=5x5x3.14 = 78.5(cm?)
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254.34 — 78.5 = 175.84( cm?) YU ot
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(YA Eo] 3emQl ¥19] Wel)

: 3% 3x3.14 = 28.26( cm?)

(A5l 4ecmQ U] Hol)

: 2X2x3.14 = 12.56( cm?)
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- = -9 —9_(H
28.26 + 12.56 = 2.25 2100 24( 1)
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@® 34.54 cm?

@379.94 cm?
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@ 69.08 cm? ® 216.91 cm?
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)%2 % 3.14 = 69.08

)%6.28 = 69.08

)= 69.08 + 6.28

11(cm)

D11 x 11 x 3.14 = 379.94( cm?)
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AF7F 12,56 cm$] @ BH220] 1.75cmel ¥
yol7 12.56 em? <1 ¢ @ ¥Z=7}157cm ¢ Y

wol7F 28.26 cm? Q1 ¥
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H122-8 oemet 5
@D ox2x3.14=12.56,0=2cm

@ HHAE 1.75cm

@ oxox3.14=1256,0=2cm
@ox2x314=157,0=25cm
®oxox3.14 =2826,0=3cm
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@ 12 @ 11 @10 @ 9 OR
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HF2]59] 4ol acme} SHH
AXAX3.14 =785
AXA=T85+314
AXA=25
A =5(cm)
(&9 Zol)=5x%x2=10(cm)
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@® 188.4cm? 2)125.6 cm? ® 94.2cm?

@ 62.8 cm? ® 31.4cm?
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(A7 Bao] Yo))
= (150l semdl Yl Hol)x

:(8x8x3.14)xg

=8x5x3.14
= 125.6( cm?)
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:1x1x3.14x§x2+3><2

=3.14+6 = 9.14(cm?)
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